1.1 Multiply and Factor Polynomials

PRACTICE

Directions: Find the product! SHOW WORK.

1) 3x — 4)(3x + 4)

2) (2x — 5)(x?% + 4x)
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4) (a —5)(2a® — 4a + 3)
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Directions: Factor each polynomial.
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12) 5n? — 6n — 8
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Directions: Choose the best answer.
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15) Factor: 5n% + 8n — 21
P SIS S R § ? 15,2
a)(n—=7)(5n-3)
b) Gn+7)(n+3)
c)(n—=7)(5n+3)
n—7)(n+3)
n

x? + 4y?
2 — 4xy + 4y?
c) x? — 4y?

d) x2 + 4xy — 4y?

16) Multiply: (x — 2y)2: (*A—_?-\h (x-lj\

17) Factor: 16x% — 25y?
ey ¥l o
a) (4x — 5y) (4x — 5y)
b) (4x + 5)(4x — 5)

4x + 5y)(4x — 5y)
d) (4x + 5y) (4x + 5y)
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